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(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Attempt the following questions:
Who is father of C Language?

i). Bjarne Stroustrup

iii). James A. Gosling

Q-1

i). An Editor

iii). An operating system

A C variable cannot start with
i). An alphabet

iii). A special symbol other than underscore

Array elements are always stored in
i). Sequential

iii). Sequential and Random
Bitwise operators can operate upon?
i). double and chars

iii). integer and floats

f)  What is the output of this C code?

int main()

{
inti=7;
i=il4;
printf("%d\n", i);
return O;

}

i)Run time error i) 1

9)

void main()

{
intx=4*5/2+9;

}

What is the value of x in this C code?

ii). Dennis Ritchie
iv). Dr. E.F. Codd

C programs are converted into machine language with the help of

i) compiler
iv). None of the above

ii). A number
memory locations.
ii). Random

iv). None of the above

ii). floats and doubles
iv). integer and chars

iii). 3 iv). Compile time error

(14)

iv). both (ii) and (iii)
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1)6.75 ii) 1.85 iii) 19 iv) 3
h)  The precedence of arithmetic operators is (from highest to lowest)?

i)%l*l/!+l- ii) %’+’/|*|-
i) +, -, %, *,/ iv)%, +, -, *, /
)} Which of the following is not an arithmetic operation?
i). a*=20; ii). a/=30; iii) a %= 40; iv) a 1= 50;
j) What is the output of this C code?
void main()
{
1<2?return 1: return 2;
}
i) returns 1 i) returns 2 iii) varies iv). Compile time error
k)  Forc =2, value of c after c <<= 1;
i)c=1, i)c=2; li)c=3; iv) c =4

)] Comment on the following C statement.

const int *ptr;

1) You cannot change the value pointed by ptr

ii) You cannot change the pointer ptr itself

iii) You May or may not change the value pointed by ptr

iv) You can change the pointer as well as the value pointed by it
m)  Which is an indirection operator among the following?

i) & i) * iii) -> iv) .
n)  Which of the following is the correct syntax to send an array as a parameter to

function?

i) func(&array); ii) func(#array);

iii) func(*array); iv) func(array[size])

Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions (14)
(a) Explain general structure of a ‘C” program.
(b) List out different types of operators available in ‘C’. Explain any two types
in detail with suitable example.

Q-3 Attempt all questions (14)
(@) Explain entry-controlled loop and exit-controlled loop with suitable
examples.
(b) Explain break and continue statement with suitable examples.

Q-4 Attempt all questions (14)
(@) What is a token? Explain various types of tokens available in ‘C’.
(b)  Give differences among machine level language, assembly level language
and high level programming language.

Q-5 Attempt all questions (14)
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Q-7

Q-8

Q-1

(@)
(b)

()
(b)

()
(b)

()
(b)

a)

b)

c)

d)

€)

What is an array? Explain two-dimensional and multi-dimensional arrays
with suitable example.

Explain switch statement with suitable example. How it differs from
nested if-else statement.

Attempt all questions (14)
Explain call by value and call by reference with suitable example.

Explain the functions: strlen(), strrev(), strcat(), strcmp(), strcpy() with their
arguments.

Attempt all questions (14)
What is Structure? How it differs from Union? Explain with suitable
example.

What is recursion? Write a ‘C’ program to find factorial of a given number

using recursion.

Attempt all questions (14)
Write a ‘C’ program to read a data from one text file and to copy the same

data in another text file.

What is pointer? How pointer is declared in ‘C’? Give the advantages of
pointer.

ol WAL Yslloll YU 5 : (14)
‘C’ ettt Al Sl B

i). 6% R U ii). 3@ RA
iii). B34 A URELL iv). SLAS.AS. 51S
‘C UL ol Heell Hallot UMMl 3UWIARA A B
i). W32 i) SPWBAR

iii). AW Rren iv). GUscuiell 81 oi(@

‘¢ oA A& yYRe 531 Ascl olell

i). s HaeR ii). WisSl

iii). o551 Rlclue] s QAN ydls iv). (ii) el (iii) cial
AR cAecll SN2 A &UAHL Ao wa B

i). s(Ms ii). 25

iii). 55 A o5 iv). GUsciuiell 51¢ o3

(A2 cuess U2 Blell GUR 511 53] 2Ad B2

i). double and chars ii). floats and doubles

iii). integer and floats iv). integer and chars
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f)

9)

h)

)

K)

m)

L ‘C Slso] wBeYe 9 B2
int main()
t
inti=7,
i=il4;
printf("%d\n", i);
return O;

¥

i)Run time error i) 1 iii). 3 iv). Compile time error

L C 8lsHx of YU Bed B2
void main()

intx=4*5/2+09;

}
i)6.75 ii) 1.85 iii) 19 iv) 3
ARAUARs vVl waldl (G llucl) &
)%, *, /, +, - i) %, +,/,*, -
i) +, -, %, *,/ iv)%, +, -, *,/
ol AotiHiell ARUARS w0V9Uat otell?
i). a*=20; ii). a/=30; iii) a %= 40; iv) a !=50;
L ‘C Slso] wBYe 9 B2

void main()

1< 2 ?return 1: return 2;

}

i) returns 1 ii) returns 2 iii) (ECUA © iv). SPUBEH AHA ¢

C=2HER,C<< = 1 USlC of yeuU;
i)c=1; ii)c=2; iii)c=3;
{lAell ‘C’ (Atitet uR Ruugll.

const int *ptr;

i) A ptr gRLAERA Y slecll Al otell
i) AR W2 ptr % AEAl Asl otell

iv) c =4,

iii) R ptr 6l AER A e tecll w8l Ol waucl secddl Asdl ol

iv) dll Weo2R AUy doll sl RERd Yeua wecll 28l 8l

LAt Hill A5 Bod 52t U S2AL B2

i) & i) * iii) -> iv) .

AR ol 520t UL AAHLeR 33 Wsclal o{lAstiuidll UA clsRU 58 B 2
i) func(&array); ii) func(#array);

iii) func(*array); iv) func(array[size])

Q-2 dl Q-8 Yol SlFuQL R Ysloll Yl 5A

Q-2

oltll Yslloll YUl 531

(14)

Page 4 of 5


javascript:%20void(0)
javascript:%20void(0)
javascript:%20void(0)
javascript:%20void(0)
javascript:%20void(0)
javascript:%20void(0)
javascript:%20void(0)
javascript:%20void(0)
javascript:%20void(0)
javascript:%20void(0)
javascript:%20void(0)

Q-3

Q-4

Q-5

Q-6

Q-7

Q-8

(@)
(b)

(@)
(b)

(@)
(b)

(@)
(b)

(@)
(b)

(@)
(b)

(@)

(b)

' QU Ho{l ALHLoRU UL AHSLAL.
‘C’ i Guctot [AQY ysiRatl w0 uResll YA olotlall. SlEFURL A YsiRatl [@atdaR
A0 BELEWL AL UMl

oltll Yslloll YUl 531
2102 GELEWN AU Aogl-SlolAds QU Ao AEB2-SloglAS GU UHXIAL.
As ol slotdlo?] o2 GELEL A AU,

oltll Yslloll Yl 531

Alsat Aed 92 ‘¢ Hi Guctont [AlAY YsiRell 5ol AHsIA .

H2llot Ao AdA, AArolcdl At AdA% U L8 Adc VLMoL Addey a2
dstalcd 2.

oltll Yslloll YUy 530

AR 9 B? Aot BELEWL U g-BAcAAA Wl M-SRt W AM L.
202 BELSRNL AU (LU ReNoe UHHAL A 3l A ares Bs-ANed [Agaiell
U D).

olll Ysllell YU 530
Sl Gl ey, SIA ol 33 010U GELGWQL A YUl

§52lotal AM LA strlen(), strrev(), strcat(), stremp(), strepy() Aol AU NozH A,

oltll Yslloll YUy 530

25U Aed 92 A YElaotell cll A Ul B? Ao GEIEA U UMl
Rs3et A2A 9j? R5betoll GUADL 53l MU oioiRell F5213laA el HR C’
Yo cul .

olll Ysllell YU 530

s 252 slocHiell dat aiual wal ofloy 252 SLBAML ALl d2loll olsA scll M2
‘¢’ UloUH AWl

Weo2R 9 B? ‘C’ Ul WeoeR 3cll IA 35AR 52122 W o1l SIAEIA WL

(14)

(14)

(14)

(14)

(14)

(14)
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